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A miner 1s n'apped in a mine containing three doors. The first door

" leads to'a tunnel which takes him to safety after two-hour’s travel

. The second door leads 1o a tunnel which returns him to the mine after
- three-hour’s travel. The third door leads to a tunne] which returns his

mine affer. 5 hours Assuming that the miner is at all times equally

. likely to choose: any ane of the doors, what is the expected length of
- time until the Imner reaches safety?  (20%)

The senvice times for customers coming through a checkout counter

in a retail store are independent random variables with a mean of 1.5
minutes and a variance of 1.0. Please evaluate the possibility that 100
custorers can be serviced in less than 2 hours of total service time.

(20%)

) " In a two-way completely randomized experimental design, if the
: - interaction effect is significant, how to intérpret the resulis of main
_effect as shown in the Figure 1(a) and 1(b} respectively? {20%)
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Coné_;ider to modeling the upper tren& as a simple linear.-_regression
¥ %ﬂo+ﬁ1f+g, B, >0, where -~ N(U,UI); -How to get the
| '100*(1 -a)% lower prediction .]imit for the first passage time 7*,
cthat is, the earliest moment ﬁhen th.e futute observation I will reach

* aboundary Yo. (20%)

5. There are two éppfaaches to evaluate the emploves’s performance.

‘What kind statistic can be employed to test the consistency of ranking?

Deescribe the testing procedure using the following data:

Employee 1 2 3 435 6 7 8
‘Method A 7 4 2 6 1 3 8 5
Method B 1 5 3 4 8 7 2 6 {10%)

If we get the mean rate of return and standard deviation of rate of

return for various stocks, { #,o,; { =1, 2., n}, how to det_e:rmi_n_e the
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efficient set of portfolios for an invester? Describe your proce‘du_r_e_.

(10%)
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